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IV Semester B.Com. (CBCS) Degree Examination, September/October - 2022

Time : 3 Hours

ENGLISH (Basic)
- (Regular)
Maximum Marks : 80

Text:Functional English
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Write a conversation with the clerk of a college seeking admission for B.Com
Ist sem. W NS)

Write a dialogue of enquiry with a medical shopkeeper about betadine medicine.
3)

Write a paragraph on how to get to your friend’s home from the bus-stand using
a few of the prepositions given in the brackét (in the corner, near, nextto , between,
opposite to behind, beyond, along , past, across, down, up, towards).

Q)

Write instructions to reach state of Bank of India from your college to get a
DD using a few prepositions given in the brackets (in the corner, near, next to

_between, opposite to , behind, beyond, along, past, across, down, up, towards). (5)

Write instructions to your friend about the preparation of rice:- _(5)

Write instructions on the process of preparation of word file. 3)

Write a formal telephone conversation between a student and teacher requesting
him to give “Who moved my cheese” - Book. 3)

Write an informal telephone conversation between two friends about a propoéed
visit to Jog falls on Sunday. ; (5)
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6. Explain briefly the steps in Business forecasting.

ST BRTBEIOD AT BOIRAYDY, QWOAD.

SECTION - C
: QR - @ :
Answer any Two of the following. (2x15=30).
3N 3¢50 QTRE, YLSOA0.
Team A has probability 2/3 of winning a game. Ifit plays 4 games, find the probability

that it wins - (i) 2 games, are (ii) atleast one game. (7+8)

83637 -A 0D 2/3 Zon ROPVICORIOIN RS a,odo‘e:mrj@ oD, @é&d&b
RN, RANR Fog=meododw (i) 2 "i\—’*s D@0 Sk SBTAN, 5330 (n)
2,000 R e:"&amﬁ‘am

2% of the mobiles manufactured by a firm are expected to be defective find the
probability that a box containing 200 mobiles contains (i) defective mobiles (i1) 3 or
more defective mobiles.

- B33 2 TR, BRI BReRTPOBITYN & 2.0 B@we0 F0F m@ncﬁéaﬂo

Noajaaeeoda@ &;m 200 FRLS N fada 1ot @dd Noﬁwaewew (i)
TRCTHTROT ESJO&J ofﬁe;a (ii) 3 9TIED 00330 BRERIDLOS QT dra&g@fneé
Nowﬁaeodo 60@., SO,
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1.

SECTION-C
QR — T :
Answer any Two from the following. (2x15=30)

FUNT BRTOETL DTHE, GVIDA0.

Define contract and explain essentials of a valid contract.
2TOTE . TVATS B T YOS 2.TOBE VB3F ©LOINTRY, WIOAD.

What discharge of contract? Explain the modes of discharge of contract.
2TBOTT DRBES DOTWTeT OB DRBEIOD DPOINIY, DWOAD.

Explain the penalties under competition Act-2002.
Roergs sdes 2002 TEOT QAT TOBWNRTRY, wWOA.

Explain the types of Cyber Crimes.
AT OTTENY TFOONTT, WWORO,
SECTION - D
N — B
Compulsory question: \ (3%5=15)
PR |
a)  Suresh of 16 years old obtains a loan of Rs.25,000 from a money lender. He fails to
repay the loan, can the money lender file a sent against suresh to recover the loan
amount. Discuss.
16 SRFE ATET D0O[II 208), SeTE BHHITHIOT TR 25,000 N
ROV, VROV, YT AR, WOTITRWSE BRBED DFPOTVTS. &
SBezmeries) TEIHOTAI 3e3 9BOT WO BRRO TR VETI T,
F,03POORTY  TFTLR DORWTTT DTOA. '

b) ‘A’agreestopay Rs.1,00,000to °B’, if ‘B’ beats ‘C’, ‘B’ beats ‘C’. ‘A’ refuses to pay
Rs.1,00,000 to ‘B’. can ‘B’ approach the court to recover the agreed amount? Comment.
‘N SRFIFD B SRFIBAR C7 20r0BH), WEGT TR, 1,00,000 3ow8s50m
2. LBR0BTE. B 3w ‘C 20w BFORI, 2BoEE: &T3 ‘A’ and B’

) =0

IR 3. 1,00,000 2REED STROMB. T BB, BARLY BB B’

-0 o %

T
QI T,CIPOCNT TE, TBHLITII0? 2328 AD.
o

¢) ‘A’invites ‘B’todinner athis house. ‘B’ accept the offer. ‘A’ by spending lot of money
makes grand arrangements for the dinner. But “B° fails to attend the dinner. Can ‘A’
recover the loss sustained by filing a case against ‘B’? :
‘A’ OIBRT B’ 20w BIR B, WNR 0w, eahoZe Jerddges. B’ ol
©R0BRT TRITT, LhBRHRTUS. AT LDBIRY, TR, VoD SR
REIT, BIF SR@tEes. 868 B’ and not3E BRTHITE, 3z ‘A
IBD IIRT TINCRT, TYO3RODTY ‘B AT, T wRB wRed
TRBETWE?

w
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IV Semester B.Com.4 (CBCS) Degree Examination, September/October - 2022

FINANCIAL MANAGEMENT
(Regular)

Time : 3 Hours Maximum Marks : 80
Instructions fo Candidates:

1) Attempt all the questions according to internal choice.

©0303 SoRAPH VITERN Y BBIRR GUSDAD.
2) Use of smlple non programable & present value table allowed.

Z0%, BRTRRT SHe3 D) TRT SPOT FRCHT GUTOIRNTWTVTL.
3) Section - D is compulsory.

QN - B ﬁcapaodamﬁd.

SECTION - A
QLPN—
Answer any Ten of the following: (10x2=290)
20T B gﬁdﬁ@?ﬁ SOZORD.
1. a) Whatdoyoumean by Business Finance?
BIHTT BOTVR DOWTED?
. b) What are the basic objectives of Financial Management?
DEOTOAT AVEJ/HOD TN mcéesﬁ%w@?
c) DefineFinancial Planning. :
Beowoas odeexsSod w9l deld. -
d)  Whatis Discounting Technique?
RRe@oD 808, R0TTED?
e) State any two reasons for time preference of money.
BT TOIR B CSRPTWTTR HTW ORI, BEPO.
f)  Name any three features of optimum capital structure.
BT woBHIE SEI0H CIP[YTIETR DTV VTLRII, TRORD.
g)  Whatdo you mean by High Gearing and Low Gearing of capital?
2O0BTY HBTRT VIVRT B TR VDRI QOTTE?
h) Whatare the types Dividends?
SOLROTT BTOONTOR)?
i)  Whatis capital Budgeting?

2OBTOLT RBVONE B3, OTTE?
[P.T.O.
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10.

mfnoé FOTACL OB 5323 Je. 12 <ac‘$3 RDO FOJAODH 23 ﬁosa TTO3F
’?&Sémﬁa TR R:CSO RR% w*‘aa‘é maﬁ@@ru@a o&mea&méd ée %@éﬁs =508
@235)(53363

TSN WY =S wooss”

3. S5.

BRG2 P 1,40,000 , 1,40,000
IR TOF) :

1 3¢ S®e 20,000 1,00,000

2 Be Sz ' 40,000 80,000

3 e SwE 60,000 40,000

4 Se IR _ 1,00,000 20,000

5 Se Sw®e e 1,10,000 20,000

R ISNS wdémf c3fple] N.ro% _;0053305353 FORIEGBOWD:
a) T2 mas:o 200083 @d&oﬁa ajdé

b) AT amf 838 TGS :

Se. 12 doé mocﬁo d.ra*ao:x)od:x xcfécs a@e)ﬁs FSNT083:

1 3¢ =@ e 09
2 B¢ SR _ 0.8
3 Se SR 0.7
4 Be IR 0.6
5 S SRE 0.55

Maheswari Co. Ltd, provides the following information:
Estimate the net working capital after providing 10% contingencies. The cost structure is
as follows:

Raw materials 40%
Direct Labour 15%
Over heads 25%
Cost of sales 80%

a)  Selling price per unit Rs. 200
b) Raw material in stock - average 4 weeks

¢)  Work-in-progress (assume 50% completion stage with full material consumption) -
average 2 weeks.

d)  Finished goods in stock - average 4 weeks.
¢)  Creditallowed to debtors - average 8 weeks

f)  Credit allowed by suppliear - average 4 weeks

[P.T.O.
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11.

g) CashatBankRs. 2,00,000
h)  Output 26,000 units Pa.

' Assume that production is sustained at an even pace during the 52 weeks of the year. All

sales are on credit sales.

S0 0.0, B S9NS @RbIchEy sEegpdh: I 10 S8 w3ng BEReE
ZORBEL THBOVT LOBTOYTE, BOTORR; YT SedSo3D B FSNTOT;

T, FRONNED RA0%
363 3RO 15%
ﬁoeeéa;’i : 25%
DI0TE3 ﬁzg’d 0%

a) RPOOHT T3 BIODIER Se.200

b) T SRNE SRESDIY TooR0 — 4 VON

) TrRechABE $OR (Be. 50 oTmod BOSTYER, TDANT, BREOF
03 RENECONG)— RTIRD 2 WOONE.

) am, SRRt TomREY - AR 4 o0

@
¢) TRBION VWS YO8, — ZooR0 8 WTN®
f) =o® IRGBEWETT YO8, — BOoRO 4 TOONW

g)  POFIYIB Beo—0w. 2,00,000

2

h) P&FE YBVBS - 26,000 O3NVVEFNRD

el

IRET 52 DOORTY, LOBVTSOIV RIDTONTIZT. DT BROEEY ORODTNIBT.

"SECTION - D
R - B

‘Case Study (Compulsory question): ~ (1x15=15)
. PO @tjémﬁ (3T Tpy) ;

Rajeswar Company Ltd., has equity capital of Rs. 10,00,000 divided into shares of Rs.

100 each. For its expansion cum installation, the company desires to raise additional

capital of Rs. 10,00,000. Financial advisor gives the following alternatives:

a) All Equaity Shares of Rs. 100 each :

b) Rs.6,00,00010% Debentures and remaining in equity shares.

¢) Rs.7,00,000 12% preference shares and remaining in equity shares

d) Rs.8,00,000 L0% Debentures, 1,00,000 9% preference shares and remaining equity
shares. ,# _

The company is in 30% tax bracket. The company’s EBIT is Rs. 4,80,000.

Determine EPS in each plan and comment. Suggest suitable plan.

A
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6)

for reconstruction.

1) 40,000 Equity shares of Rs.10 each fully paid reduced to Rs.5 Each as fully paid.

1i) 20,000 preference shares Rs.10 Each fully paid reduced to shares of Rs.5 Each fully
paid.

iii) 200, 10% debentures of Rs.2000 Each converted into 1,000, 6% debentures of Rs.100
each.

iv)  The debt balance of profit and loss account 0fRs.1,00,000 and Preliminary expenses
0f Rs.1,20,000 were to be written off.

V)  The value of plant and Machinery and stock were written down by Rs.60,000 and
Rs. 50,000 respectively. :

Pass Journal Entries in the books of the Company.

T BoT O, 30303 TOIT' T3S a’m@ém%oa NTFORT. 0302 afoedqf T35 03w

BremSn & 28NS - :

i) dw. 10 3 Zewps ROTRODZIT 40,000 TR, éSfu:iari%faigl CR. 5 503 Zpres
FOTRORTE  FetoneR ‘a@:ﬂmﬁd:g‘ -

i) Ce. 10 ZHews NOTODTE 20,000 R 5edan’%fai>4 8R. 5 To3 Teeer
RO TIF . BRER qoReHAZ,

iii) 200, 10% e DZNH T, 2,000 Re 20D aﬁdﬁ%ﬂcﬁgj a—:@ﬁ@éabd dw. 100 ©
1000, 6% ROTINITON TOBSEZAS, :

iv) GH-IF SIS BAH aﬁJar_ng Twe. 100,000 monnm TUOTELTDOW ﬁa;a; den.
1,20,000 ﬁ%fab& 3R B,

V) AT EAEY] ODOBReTBTER aaari.rai:dciﬁa ‘%@%ﬁ%ﬂm& I=eN Br. 60,000 Tonp
dR. 50,000 OR), FRDRRLZOAS.
FOTACH Bz méﬁ@&d AT TBAD.

The Worst Ltd. went into voluntary Liqudation on 3 1/3/2017, when its liabilities were as
under. ]

Rs.
Secured creditors 40,000
Preferential creditors ' 8,000
Unsecured creditors ' 1,00,000

The liquidator realised Rs.50,000 from the securities held by secured creditors and
Rs.12,000 from other assets. Cash in hand amounted to Rs.2.200.

The cost of Liquidation amounted to Rs.3,980 and the Liquidators remuneration was
fixed at 3% on the amount of assets realised and 2% on the amount distributed to unsecured
creditors.

Prepare liquidators fina] statement of Account.



















































